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M.M.70
General Instruction:

      (i) All Questions are compulsory

      (ii) Programming Language: C++

Q1 a) Differentiate between overloaded functions and function with default arguments. Also give suitable example in C++.          
        [2]                                                                                                                                                           
  b) Name the header file required for successful compilation of the given snippet:                          






   [1]                                                                                                                                                                                    
     main( )


{
char str[20]=”Exam”;



cout<<setw(20)<<str;


return 0; }
  c) Rewrite the given snippet after removing the syntactical error(s), if any. Underline each correction        





   [2]
          include<iostream.h>



#define MAX 10



void main()




{
int AY[MAX]=(5,10,15,20,25);





const int loop 5;





for[int m=0; m<loop,m++]





switch(m):






{
case 0:







case 4: cout<<AY[m]*5







case 2: 







case 1 cout>>AY[m]>>endl;






}




}

 d) What will be the output of the given snippet?




   [2]     

#include <iostream.h>

void RIDDLE(int *N,int c)

{


for(int i=1;i<c;i++)



*(N+i-1)=*(N+i)+1;

}

void main()

{


int p[] = {6,9,8},q[]={4,3,1},r[]={50,80};


clrscr();
     RIDDLE(p,3);


RIDDLE(q,3);


RIDDLE(r,2);

for(inti=0;i<3;i++)



cout<<p[i]<<’-‘;



cout<<endl;


for(i=0;i<3;i++)



cout<<q[i]<<’%‘;



cout<<endl;


for(i=0;i<2;i++)



cout<<r[i]<<’-‘;



cout<<endl;

}

e) What will be the output of the following program:



 [3]
#include <iostream.h>

void main()

{


char a[]=”PrE BoArd ExAM-2009


int i;



for(i=0;i<strlen(a);i++)




if(a[i]>=97 && a[i]<=122)





a[i]--;




else





if(a[i]>=’0’ && a[i]<=’9’)






a[i]=a[i-1];





else






if(a[i]>=’A’ && a[i]<=’Z’)







a[i]+=32;






else







a[i]=’#’;


puts(a);

}
f)Study the following program and select the possible output from it : [2]
#include <iostream.h>

#include <stdlib.h>

void main()

{

int number;
randomize();

number = 50 + random(3)
for (int I=number;I>=50;I--)

cout<<I<<”#”;
cout<<endl;
}

(i) 53#52#51#50#
(ii) 50#51#52#
(iii)50#51#
(iv) 51#50#
Q2 a) Explain the properties of static members in a class and how they differ from other class members?







 [2]


b) Answer the questions (i) and (ii) after going through the following program:












 [2]
class Job
{
int jobid;char jobtype;

     public:


~Job(){ cout<<”Resigned”<<endl;


//function 1

Job()







//function 2


{ jobid=10;jobtype=’T’;}

Void Tellme()







//function 3

{ cout<<jobid<<jobtype<<endl; }

Job(Job &J)







//function 4

{ jobid=J.jobid +10; jobtype=J.jobtype+1; }
};
(i) Which member function out of Function 1, Function 2, Function 3 and Function 4 shown in the above definition of class Job is called automatically, when the scope of an object gets over? Is it known as constructor OR Destructor OR Overloaded Function OR Copy Constructor?
(ii) Job p;

//line-1
Job q(p)
//line-2.
Which member function out of Function 1, Function 2, Function 3 and Function 4 shown in the above definition of class Job will be called on execution of statement written as line 2? What is this function specifically known as out of destructor or copy constructor or default constructor? 
c) Define a class Clothing in C++ with the following descriptions: 
[4]

Private Members:

Code 


of type string

Type 


of type string

Size 


of type integer

Material 


of type string

Price 


of type float

- A function Calc_Price ( ) which calculates and assigns the value of Price as follows:

For the value of Material as "COTTON”:
Type 

Price (Rs.)

TROUSER 

1500

SHIRT 

1200

For Material other than "COTTON" the above mentioned Price gets 

Reduced by 25%.

Public Members:

-A constructor to assign initial values of Code, Type and Material with the word "NOT ASSIGNED" and Size and Price with 0.

-A function Enter( ) to input the values of the data members Code, Type, Size and Material and invoke the CalcPrice( ) function.

-A function Show( ) which displays the content of all the data   members for a Clothing.
    d) Answer the questions (i) to (iv) based on the following code:
   [4]                           

class Goods

{


int id;


protected :


char name[20];


long qty;


void Incr(int n);


public :


Goods();


~Goods();


void get();

};

class Food_products : protected Goods

{


char exp_dt[10];


protected :


int id;


int qty;


public :


void getd();


void showd();

};

class Cosmetics : private Goods

{


int qty;


char exp_date[10];


protected :


int id;


public :


~Cosmetics();


Cosmetics();


void show();

};

i) Name the all protected members of class Food_products.

ii) Name the member functions accessible through the object of class Food_products.

iii) From the following, Identify the member function(s) that cannot be called directly from the object of class Cosmetics

show()

getd()

get()

iv) If the class cosmetics inherit the properties of food_products class also, then name the type of inheritance.
Q3 a) Assume an array E containing elements of structure Student is required to be arranged in ascending order of the marks. Write a C++ function to arrange the same with the help of insertion sort the array and its size is required to be passed as parameters to the function. Definition of structure Student is as follows: 









[3]

struct Student

{


int Rollno;


char Name[25];


float Marks;

};











b) An array A[13][14] is stored in the memory along the column with each element occupying 4 bytes. Find out the Base address and address of the element A[3][7] if the element A[4][4] is stored at the address 1300.
   [4]  
                                                                                                                    
c) Consider the following portion of a program, which implements a linked stack for Library. Write the definition of function PUSH (), to insert a new node in the stack with required information. 




   [3]
struct Library

{
int id;


char names[20];

};

class stack

{


Library *top;


public :

stack()


{


top=NULL;


}


void PUSH();


void POP();

}; 

OR

Write a function to insert and delete a set of integer values in a circular queue and display them.


 d) Write a function in C++ which accepts a 2D array its size as arguments/parameters and find the maximum element in each column.
  [2]
e) Convert the following infix expression into postfix. Show the stack status after execution of each operation: TRUE OR FALSE AND
NOT FALSE OR
FALSE




   






   [2]
Q4 a) Observe the program segment given below carefully and answer the question that follows     








   [1]                                                                                                                             


#include<fstream.h>


class school


{ private :



char scode[10],sname[30];



float nofstu;



public:




void INPUT( );




void OUTPUT( );




int COUNTREC( ); };



int school::COUNTREC( )

{ fstream fin(“scool.dat”,ios::in|ios::binary);

_________________ //statement 1

int B=_______________ //statement 2

int C=B/sizeof(school);

fin.close( );

return C; }
  b) Write a function to display the length of maximum length word in each line from a text file matter.txt. 






 [2]
 c) Given a binary file “BUS.DAT”, containing records of the following class colony type.

class bus












 [3]
{


int bus_no;


char desc[40];


int distance;

//in km

    public:


void bus::read()


{
cin>>bus_no; gets(desc) ; cin>>distance;
}


void bus::display()


{
cout<<bus_no; puts(desc); cout<<distance;
}

 
int bus::retdist()


{
return distance;
}

};

Write a function in C++ that would read contents of file “BUS.DAT” and display and transfer the details of those buses which travels distance more than 100 km to other file “Temp.DAT”.
5.a) What is a relation? What is the difference between a tuple and an attribute?











  [2]  
b) Consider the following tables Item and Customer. Write SQL commands for the statements (i) to (iv) and give output for SQL queries (v) to (viii).














  [6]
TABLE: ITEM

	I_ID 
	ItemName 
	Manufacturer 
	Price

	PC01 
	Personal Computer 
	ABC 
	35000

	LC05 
	Laptop 
	ABC 
	55000

	PC03 
	Personal Computer 
	XYZ 
	32000

	PC06 
	Personal Computer 
	COMP 
	37000

	LC03 
	Laptop 
	PQR 
	57000


TABLE: CUSTOMER

	C_ID 
	CustomerName 
	City 
	I_Id

	01 
	N Roy 
	Delhi 
	LC03

	06 
	H Singh 
	Mumbai 
	PC03

	12 
	R Pandey 
	Delhi 
	PC06

	15 
	C Sharma 
	Delhi 
	LC03

	16 
	K Agarwal 
	Bangalore 
	PC01


(i) To display the details of those Customers whose City is Delhi

(ii)To display the details of Items whose Price is in the range of 35000 to 55000 (Both values included)

(iii)To display the CustomerName, City from table Customer and ItemName and Price from table Item, with their corresponding matching I_Id

(iv)To increase the Price of all Items by 1000 in the table Item

(v) SELECT DISTINCT City FROM Customer;

(vi)SELECT ItemName, MAX (Price), Count (*) FROM Item GROUP BY ItemName;

(vii)SELECT CustomerName, Manufacturer FROM Item, Customer WHERE Item.Item_Id=Customer.ItemI_Id

(viii) SELECT ItemName, Price * 100 FROM Item WHERE Manufacturer='ABC';
 Q 6.a) State and verify Associative law.


      

  [2]                                              
  b) Convert the following Boolean expression into its equivalent Canonical Sum of Product (SOP): (X+Y+Z) (X+Y+Z’) (X’+Y+Z) (X’+Y’+Z’)
    
  [2]                 
 c) Design a circuit for the Boolean expression (A’B’C’)+(AB’C’)+(ABC’) using NAND to NAND logic.






   

  [1]
(d) Reduce the following Boolean Expression using K-Map


  [3]
      F(A,B,C,D) = ∑( 0 , 2,3, 4, 5, 6, 7, 8, 11, 13, 15)

7. (a) Write one advantage and disadvantage of Star Topology.

  [1]
   (b) Expand the following terms with respect to Networking.

  [1]
i)CDMA
ii)FSF
  (c)Differentiate between Hackers and crackers?




[1]
 (d)What is Network security?
           





[1]
 (e)What is open source code?








[1]
 (f)What is GSM?










[1]
5. d) Sunbeam Group of Institutions in Varanasi is setting up the network among its different branches. There are four branches named as Bhagwanpur (BGN), Lahartara (LHT), Varuna (V) and Annapurna (A). Distances between various branches are given below:


     [4]

	Branch BGN to V
	7 Km

	Branch V to LHT
	4 Km

	Branch V to A
	3 Km

	Branch BGN to LHT
	4 Km

	Branch BGN to A
	3.5 km

	Branch LHT to A
	1 km


    Number of computers:

	Branch BGN 
	137

	Branch V 
	65

	Branch A
	29

	Branch LHT
	98


i) Suggest a suitable topology for networking the computer of all the branches with a layout.



ii) Name the branch where the server should be installed. Justify your answer.





iii) Suggest the placement of hub or switches in the network.




iv) Mention any economic way to provide internet accessibility to all branches.
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